Year 2 Maths problems
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Section 1 Section 2 Section 3
Abi built 3 sandcastles. Rachel made If A equals 6, what is B? Draw arrows on the number line where these numbers should be:
five times as many sandcastles. How 67 89 Q5 110
many did Rachel make?
22 + A = B
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Section 4 Section 5 12 birds are sitting on a roof. 8 fly away and 6 join the rest. How many birds are on the
?
Lewis scores 35 points on a Can you find 5 different roof now?
computer game. Max scores ways to make 78p?
29. How many more points did
Lewis score?
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Section 7 Section 8
Owen will go to school in 20 minutes. Put the correct sign in:
What time will this be? x + -
8 2 = 4
4 5 = 20
23 5 = 28
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